

# HIGHER-ORDER IDENTITIES FOR FIBONACCI NUMBERS

TAKAO KOMATSU, ZUZANA MASÁKOVÁ, AND EDITA PELANTOVÁ

ABSTRACT. Let  $F_n$  be the  $n$ -th Fibonacci number. In this paper, we give some explicit expressions of  $\sum_{l=0}^{2r-3} \binom{2r-3}{l} \sum_{\substack{j_1+\dots+j_r=n-2l \\ j_1, \dots, j_r \geq 1}} F_{j_1} \cdots F_{j_r}$  as well as  $\sum_{\substack{j_1+\dots+j_r=n \\ j_1, \dots, j_r \geq 1}} F_{j_1} \cdots F_{j_r}$ .

## 1. INTRODUCTION

It is known that the generating function  $f(x)$  of Fibonacci numbers  $F_n$  is given by

$$f(x) := \frac{x}{1-x-x^2} = \sum_{n=0}^{\infty} F_n x^n.$$

Then  $f(x)$  satisfies the relation

$$f(x)^2 = \frac{x^2}{1+x^2} f'(x) \tag{1.1}$$

or

$$(1+x^2)f(x)^2 = x^2 f'(x). \tag{1.2}$$

The left-hand side of (1.2) is

$$\begin{aligned} & (1+x^2) \left( \sum_{n=0}^{\infty} F_n x^n \right) \left( \sum_{m=0}^{\infty} F_m x^m \right) \\ &= (1+x^2) \sum_{n=0}^{\infty} \sum_{j=0}^n F_j F_{n-j} x^n \\ &= \sum_{n=0}^{\infty} \sum_{j=0}^n F_j F_{n-j} x^n + \sum_{n=2}^{\infty} \sum_{j=0}^{n-2} F_j F_{n-j-2} x^n. \end{aligned}$$

The right-hand side of (1.2) is

$$x^2 \left( \sum_{n=1}^{\infty} n F_n x^{n-1} \right) = \sum_{n=1}^{\infty} (n-1) F_{n-1} x^n.$$

---

Research supported in part by the grant of Wuhan University and Hubei Provincial 100 Talents Program.

## HIGHER-ORDER IDENTITIES FOR FIBONACCI NUMBERS

Comparing the coefficients of both sides, we get

$$\begin{aligned}
 (n-1)F_{n-1} &= \sum_{j=0}^n F_j F_{n-j} + \sum_{j=0}^{n-2} F_j F_{n-j-2} \\
 &= \sum_{j=1}^{n-1} F_j F_{n-j} + \sum_{j=0}^{n-2} F_j F_{n-j-2} \\
 &= \sum_{j=1}^{n-1} (F_j F_{n-j} + F_{j-1} F_{n-j-1}).
 \end{aligned}$$

Hence, we get the identity which can be identical with  $F_{m+n} = F_{m+1}F_n + F_mF_{n-1}$  (see e.g. [1, Lemma 5]).

**Theorem 1.1.** *For  $n \geq 1$ , we have*

$$nF_n = \sum_{j=1}^n (F_j F_{n-j+1} + F_{j-1} F_{n-j}).$$

Differentiating both sides of (1.1) by  $x$  and dividing them by 2, we obtain

$$f(x)f'(x) = \frac{x}{(1+x^2)^2}f'(x) + \frac{x^2}{2(1+x^2)}f''(x). \quad (1.3)$$

By (1.1) and (1.3), we get

$$\begin{aligned}
 f(x)^3 &= \frac{x^2}{1+x^2}f(x)f'(x) \\
 &= \frac{x^3}{(1+x^2)^3}f'(x) + \frac{x^4}{2(1+x^2)^2}f''(x)
 \end{aligned} \quad (1.4)$$

or

$$(1+x^2)^3 f(x)^3 = x^3 f'(x) + \frac{1}{2}x^4(1+x^2)f''(x). \quad (1.5)$$

The left-hand side of (1.5) is

$$\begin{aligned}
 &(1+3x^2+3x^4+x^6) \sum_{n=0}^{\infty} \sum_{\substack{j_1+j_2+j_3=n \\ j_1, j_2, j_3 \geq 0}} F_{j_1} F_{j_2} F_{j_3} x^n \\
 &= \sum_{l=0}^3 \sum_{n=2l}^{\infty} \binom{l}{3} \sum_{\substack{j_1+j_2+j_3=n-2l \\ j_1, j_2, j_3 \geq 1}} F_{j_1} F_{j_2} F_{j_3} x^n.
 \end{aligned}$$

The right-hand side of (1.5) is

$$\begin{aligned}
 &x^3 \sum_{n=1}^{\infty} nF_n x^{n-1} + \frac{x^4}{2} \sum_{n=2}^{\infty} n(n-1)F_n x^{n-2} + \frac{x^6}{2} \sum_{n=2}^{\infty} n(n-1)F_n x^{n-2} \\
 &= \sum_{n=2}^{\infty} \frac{(n-1)(n-2)}{2} F_{n-2} x^n + \sum_{n=4}^{\infty} \frac{(n-4)(n-5)}{2} F_{n-4} x^n.
 \end{aligned}$$

Comparing the coefficients of both sides, we get the following.

**Theorem 1.2.** *For  $n \geq 6$ , we have*

$$\sum_{l=0}^3 \binom{3}{l} \sum_{\substack{j_1+j_2+j_3=n-2l \\ j_1, j_2, j_3 \geq 1}} F_{j_1} F_{j_2} F_{j_3} = \binom{n-1}{2} F_{n-2} + \binom{n-4}{2} F_{n-4}.$$

In this paper, we give some explicit expressions of  $\sum_{l=0}^{2r-3} \binom{2r-3}{l} \sum_{\substack{j_1+\dots+j_r=n-2l \\ j_1, \dots, j_r \geq 1}} F_{j_1} \cdots F_{j_r}$  as well as  $\sum_{\substack{j_1+\dots+j_r=n \\ j_1, \dots, j_r \geq 1}} F_{j_1} \cdots F_{j_r}$ .

## 2. MAIN RESULT

In general, we can state the following.

**Theorem 2.1.** *Let  $r \geq 2$ . Then for  $n \geq 3r - 5$ , we have*

$$\begin{aligned} \sum_{l=0}^{2r-3} \binom{2r-3}{l} \sum_{\substack{j_1+\dots+j_r=n-2l \\ j_1, \dots, j_r \geq 1}} F_{j_1} \cdots F_{j_r} \\ = \sum_{k=1}^{r-1} \frac{n-2k-r+3}{r-1} \binom{n-2k+1}{r-k-1} \binom{n-k-2r+3}{k-1} F_{n-2k-r+3}. \end{aligned}$$

**Lemma 2.2.** *For  $r \geq 2$ , we have*

$$f(x)^r = \frac{x^{2r-2} f^{(r-1)}(x)}{(r-1)!(1+x^2)^{r-1}} + \sum_{k=1}^{r-2} \frac{\sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{k(r-k-2)!(1+x^2)^{r+k-1}} f^{(r-k-1)}(x). \quad (2.1)$$

HIGHER-ORDER IDENTITIES FOR FIBONACCI NUMBERS

*Proof.* The proof is done by induction. It is trivial to see that the identity holds for  $r = 2$ . Suppose that the identity holds for some  $r$ . Differentiating both sides by  $x$ , we obtain

$$\begin{aligned}
 & rf(x)^{r-1}f'(x) \\
 &= \frac{x^{2r-2}f^{(r)}(x)}{(r-1)!(1+x^2)^{r-1}} + \frac{(2r-2)x^{2r-3}f^{(r-1)}(x)}{(r-1)!(1+x^2)^r} \\
 &+ \sum_{k=1}^{r-2} \frac{\sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{k(r-k-2)!(1+x^2)^{r+k-1}} f^{(r-k)}(x) \\
 &+ \sum_{k=1}^{r-2} \frac{\sum_{j=0}^{k-1} (-1)^j (2r-k-2+2j) \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-3+2j}}{k(r-k-2)!(1+x^2)^{r+k}} f^{(r-k-1)}(x) \\
 &- \sum_{k=1}^{r-2} \frac{\sum_{j=0}^{k-1} (-1)^j (3k-2j) \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-1+2j}}{k(r-k-2)!(1+x^2)^{r+k}} f^{(r-k-1)}(x) \\
 &= \frac{x^{2r-2}f^{(r)}(x)}{(r-1)!(1+x^2)^{r-1}} + \frac{2x^{2r-3}f^{(r-1)}(x)}{(r-2)!(1+x^2)^r} \\
 &+ \sum_{k=1}^{r-2} \frac{\sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{k(r-k-2)!(1+x^2)^{r+k-1}} f^{(r-k)}(x) \\
 &+ \sum_{k=2}^{r-1} \frac{\sum_{j=0}^{k-2} (-1)^j (2r-k-1+2j) \binom{k-1}{j} \binom{r-2}{k-j-2} x^{2r-k-2+2j}}{(k-1)(r-k-1)!(1+x^2)^{r+k-1}} f^{(r-k)}(x) \\
 &+ \sum_{k=2}^{r-1} \frac{\sum_{j=1}^{k-1} (-1)^j (3k-2j-1) \binom{k-1}{j-1} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{(k-1)(r-k-1)!(1+x^2)^{r+k-1}} f^{(r-k)}(x) \\
 &= \frac{x^{2r-2}f^{(r)}(x)}{(r-1)!(1+x^2)^{r-1}} + r \sum_{k=1}^{r-1} \frac{\sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-1}{k-j-1} x^{2r-k-2+2j}}{k(r-k-1)!(1+x^2)^{r+k-1}} f^{(r-k)}(x).
 \end{aligned}$$

Here, we used the relations

$$\frac{2}{(r-2)!} + \frac{1}{(r-3)!} = \frac{r}{(r-2)!} \quad (k=1)$$

and

$$\begin{aligned}
 & \frac{r-k-1}{k} \binom{k}{j} \binom{r-2}{k-j-1} + \frac{2r-k-1+2j}{k-1} \binom{k-1}{j} \binom{r-2}{k-j-2} \\
 &+ \frac{3k-2j-1}{k-1} \binom{k-1}{j-1} \binom{r-2}{k-j-1} \\
 &= \frac{r}{k} \binom{k}{j} \binom{r-1}{k-j-1} \quad (k \geq 2).
 \end{aligned}$$

Together with (1.1), we get

$$\begin{aligned} f(x)^{r+1} &= \frac{x^2}{1+x^2} f(x)^{r-1} f'(x) \\ &= \frac{x^2}{1+x^2} \left( \frac{x^{2r-2} f^{(r)}(x)}{r!(1+x^2)^{r-1}} + \sum_{k=1}^{r-1} \frac{\sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-1}{k-j-1} x^{2r-k-2+2j}}{k(r-k-1)!(1+x^2)^{r+k-1}} f^{(r-k)}(x) \right) \\ &= \frac{x^{2r} f^{(r)}(x)}{r!(1+x^2)^r} + \sum_{k=1}^{r-1} \frac{\sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-1}{k-j-1} x^{2r-k+2j}}{k(r-k-1)!(1+x^2)^{r+k}} f^{(r-k)}(x). \end{aligned}$$

□

*Proof of Theorem 2.1.* By Lemma 2.2 we get

$$\begin{aligned} (1+x^2)^{2r-3} f(x)^r &= (1+x^2)^{r-2} \frac{x^{2r-2} f^{(r-1)}(x)}{(r-1)!} \\ &\quad + \sum_{k=1}^{r-2} (1+x^2)^{r-k-2} \frac{\sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{k(r-k-2)!} f^{(r-k-1)}(x). \end{aligned} \quad (2.2)$$

Since  $F_0 = 0$ , the left-hand side of (2.2) is equal to

$$\begin{aligned} &(1+x^2)^{2r-3} \sum_{n=0}^{\infty} \sum_{\substack{j_1+\dots+j_r=n \\ j_1, \dots, j_r \geq 0}} F_{j_1} \cdots F_{j_r} x^n \\ &= \sum_{l=0}^{2r-3} \sum_{n=2l}^{\infty} \binom{2r-3}{l} \sum_{\substack{j_1+\dots+j_r=n-2l \\ j_1, \dots, j_r \geq 1}} F_{j_1} \cdots F_{j_r} x^n. \end{aligned}$$

On the other hand,

$$\begin{aligned} &(1+x^2)^{r-2} \frac{x^{2r-2} f^{(r-1)}(x)}{(r-1)!} \\ &= \sum_{i=0}^{r-2} \binom{r-2}{i} x^{2i} \frac{x^{2r-2}}{(r-1)!} \sum_{n=r-1}^{\infty} \frac{n!}{(n-r+1)!} F_n x^{n-r+1} \\ &= \frac{1}{(r-1)!} \sum_{i=0}^{r-2} \binom{r-2}{i} \sum_{n=2r+2i-2}^{\infty} \frac{(n-r-2i+1)!}{(n-2r-2i+2)!} F_{n-r-2i+1} x^n. \end{aligned}$$

For  $i = r - 2$ , we have

$$\begin{aligned} &\frac{1}{(r-1)!} \sum_{n=4r-6}^{\infty} \frac{(n-3r+5)!}{(n-4r+6)!} F_{n-3r+5} x^n \\ &= \sum_{n=3r-5}^{\infty} \frac{n-3r+5}{r-1} \binom{n-3r+4}{r-2} F_{n-3r+5} x^n, \end{aligned}$$

which yields the term for  $k = r - 1$  on the right-hand side of the identity in Theorem 2.1. Notice that

$$\binom{\gamma'}{\gamma} = 0 \quad (\gamma' < \gamma).$$

The second term of the right-hand side of (2.2) is

$$\begin{aligned}
 & \sum_{k=1}^{r-2} \sum_{i=0}^{r-k-2} \binom{r-k-2}{i} x^{2i} \frac{1}{k(r-k-2)!} \sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j} \\
 & \quad \times \sum_{n=r-k-1}^{\infty} \frac{n!}{(n-r+k+1)!} F_n x^{n-r+k+1} \\
 &= \sum_{i=0}^{r-3} \sum_{j=0}^{r-i-3} \sum_{k=j}^{r-i-3} \frac{1}{(k+1)(r-k-3)!(n-2r+k-2i-2j+3)!} \binom{r-k-3}{i} \\
 & \quad \times \binom{k+1}{j} \binom{r-2}{k-j} \sum_{n=2r+2i+2j-k-3} (-1)^j (n-r-2i-2j+1)! F_{n-r-2i-2j+1} x^n \\
 &= \sum_{i=0}^{r-3} \sum_{\kappa=i+1}^{r-2} \sum_{k=\kappa-i-1}^{r-i-3} \frac{1}{(k+1)(r-k-3)!(n-2r+k-2\kappa+5)!} \binom{r-k-3}{i} \\
 & \quad \times \binom{k+1}{\kappa-i-1} \binom{r-2}{k-\kappa+i+1} \sum_{n=2r+2\kappa-k-5} (-1)^{\kappa-i-1} (n-r-2\kappa+3)! F_{n-r-2\kappa+3} x^n.
 \end{aligned}$$

Together with the first term of the right-hand side of (2.2) we can prove that

$$\begin{aligned}
 & \frac{1}{(r-1)!} \binom{r-2}{k-1} \frac{(n-r-2k+3)!}{(n-2r-2k+4)!} \\
 & \quad + \sum_{i=0}^{k-1} \sum_{l=k-i-1}^{r-i-3} \frac{1}{(l+1)(r-l-3)!(n-2r+l-2k+5)!} \\
 & \quad \times \binom{r-l-3}{i} \binom{l+1}{k-i-1} \binom{r-2}{l-k+i+1} (-1)^{k-i-1} (n-r-2k+3)! \\
 &= \frac{n-2k-r+3}{r-1} \binom{n-2k+1}{r-k-1} \binom{n-k-2r+3}{k-1}. \tag{2.3}
 \end{aligned}$$

Then the proof is done. □

### 3. EXAMPLES 1

When  $r = 2$  and  $r = 3$ , Theorem 2.1 is reduced to Theorem 1.1 and Theorem 1.2, respectively. When  $r = 3, 4, 5$  in Theorem 2.1, we get the following Corollaries as examples.

**Theorem 3.1.** *For  $n \geq 7$ , we have*

$$\begin{aligned}
 & \sum_{l=0}^5 \binom{5}{l} \sum_{\substack{j_1+j_2+j_3+j_4=n-2l \\ j_1, j_2, j_3, j_4 \geq 1}} F_{j_1} F_{j_2} F_{j_3} F_{j_4} \\
 &= \binom{n-1}{3} F_{n-3} + \frac{(n-3)(n-5)(n-7)}{3} F_{n-5} + \binom{n-7}{3} F_{n-7}.
 \end{aligned}$$

**Theorem 3.2.** For  $n \geq 10$ , we have

$$\begin{aligned} \sum_{l=0}^7 \binom{7}{l} \sum_{\substack{j_1+j_2+j_3+j_4+j_5=n-2l \\ j_1, j_2, j_3, j_4, j_5 \geq 1}} F_{j_1} F_{j_2} F_{j_3} F_{j_4} F_{j_5} \\ = \binom{n-1}{4} F_{n-4} + \frac{(n-3)(n-4)(n-6)(n-9)}{8} F_{n-6} \\ + \frac{(n-5)(n-8)(n-10)(n-11)}{8} F_{n-6} + \binom{n-10}{4} F_{n-10}. \end{aligned}$$

**Theorem 3.3.** For  $n \geq 13$ , we have

$$\begin{aligned} \sum_{l=0}^9 \binom{9}{l} \sum_{\substack{j_1+\dots+j_6=n-2l \\ j_1, \dots, j_6 \geq 1}} F_{j_1} \cdots F_{j_6} \\ = \binom{n-1}{5} F_{n-5} + \frac{(n-3)(n-4)(n-5)(n-7)(n-11)}{30} F_{n-7} \\ + \frac{(n-5)(n-6)(n-9)(n-12)(n-13)}{20} F_{n-9} \\ + \frac{(n-7)(n-11)(n-13)(n-14)(n-15)}{30} F_{n-11} + \binom{n-13}{5} F_{n-13}. \end{aligned}$$

#### 4. ANOTHER RESULT

In this section, we shall give an expression of  $\sum_{\substack{j_1+\dots+j_r \\ j_1, \dots, j_r \geq 1}} F_{j_1} \cdots F_{j_r}$ .

The left-hand side of (1.1) is

$$\left( \sum_{n=0}^{\infty} F_n x^n \right) \left( \sum_{m=0}^{\infty} F_m x^m \right) = \sum_{n=0}^{\infty} \sum_{j=0}^n F_j F_{n-j} x^n.$$

The right-hand side of (1.1) is

$$\begin{aligned} x^2 \left( \sum_{j=0}^{\infty} (-1)^j x^{2j} \right) \left( \sum_{m=1}^{\infty} m F_m x^{m-1} \right) &= x^2 \left( \sum_{j=0}^{\infty} \alpha_j x^j \right) \left( \sum_{m=0}^{\infty} (m+1) F_{m+1} x^m \right) \\ &= x^2 \sum_{n=0}^{\infty} \sum_{m=0}^n \alpha_{n-m} (m+1) F_{m+1} x^n \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^{n-2} \alpha_{n-m-2} (m+1) F_{m+1} x^n, \end{aligned}$$

where  $\alpha_j = \cos \frac{j\pi}{2}$  ( $j \geq 0$ ), satisfying  $\{\alpha_j\}_{j \geq 0} = 1, 0, -1, 0, 1, 0, -1, 0, 1, 0, -1, 0, \dots$ . Comparing the coefficients of both sides, we have the following.

## HIGHER-ORDER IDENTITIES FOR FIBONACCI NUMBERS

**Theorem 4.1.** *For  $n \geq 2$ , we have*

$$\sum_{j=0}^n F_j F_{n-j} = \sum_{m=1}^{n-1} m F_m \cos \frac{(n-m-1)\pi}{2}. \quad (4.1)$$

In general, we have the following.

**Theorem 4.2.** *For  $n \geq r \geq 2$ , we have*

$$\begin{aligned} & \sum_{\substack{j_1 + \dots + j_r = n \\ j_1, \dots, j_r \geq 1}} F_{j_1} \cdots F_{j_r} \\ &= \frac{C_{r-2}}{(2r-4)! 2^{2r-4}} \sum_{m=1}^{n-r+1} \frac{(n+m+r-3)!!(n-m+r-3)!!}{(n+m-r+1)!!(n-m-r+1)!!} m F_m \cos \frac{(n-m-r+1)\pi}{2}, \end{aligned}$$

where  $C_n$  is the  $n$ -th Catalan number ([4, A000108]) given by

$$C_n = \frac{1}{n+1} \binom{2n}{n} \quad (n \geq 0)$$

and  $n!! = n(n-2)(n-4) \cdots 1$  if  $n$  is odd;  $n!! = n(n-2)(n-4) \cdots 2$  if  $n$  is even.

*Proof.* The left-hand side of (2.1) in Lemma 2.2 is equal to

$$\sum_{n=0}^{\infty} \sum_{\substack{j_1 + \dots + j_r = n \\ j_1, \dots, j_r \geq 1}} F_{j_1} \cdots F_{j_r} x^n.$$



THE FIBONACCI QUARTERLY

The first term on the right-hand side of (2.1) in Lemma 2.2 is equal to

$$\begin{aligned}
 & \frac{x^{2r-2} f^{(r-1)}(x)}{(r-1)!(1+x^2)^{r-1}} \\
 &= \frac{x^{2r-2}}{(r-1)!} \sum_{i=0}^{\infty} \binom{i+r-2}{r-2} x^{2i} \sum_{m=0}^{\infty} \frac{(m+r-1)!}{m!} F_{m+r-1} x^m \\
 &= \frac{x^{2r-2}}{(r-1)!} \sum_{k=0}^{\infty} \frac{1}{(r-2)!2^{r-2}} \frac{(k+2r-4)!!}{k!!} \cos \frac{k\pi}{2} x^k \sum_{m=0}^{\infty} \frac{(m+r-1)!}{m!} F_{m+r-1} x^m \\
 &= \frac{x^{2r-2}}{(r-1)!} \sum_{n=0}^{\infty} \sum_{m=0}^n \frac{1}{(r-2)!2^{r-2}} \frac{(n-m+2r-4)!!}{(n-m)!!} \\
 &\quad \times \cos \frac{(n-m)\pi}{2} \frac{(m+r-1)!}{m!} F_{m+r-1} x^n \\
 &= \frac{1}{(r-1)!(r-2)!2^{r-2}} \sum_{n=2r-2}^{\infty} \sum_{m=0}^{n-2r+2} \frac{(n-m-2)!!}{(n-m-2r+2)!!} \\
 &\quad \times \cos \frac{(n-m-2r+2)\pi}{2} \frac{(m+r-1)!}{m!} F_{m+r-1} x^n \\
 &= \frac{1}{(r-1)!(r-2)!2^{r-2}} \sum_{n=2r-2}^{\infty} \sum_{m=r-1}^{n-r+1} \frac{(n-m+r-3)!!}{(n-m-r+1)!!} \\
 &\quad \times \cos \frac{(n-m-r+1)\pi}{2} \frac{m!}{(m-r+1)!} F_m x^n.
 \end{aligned}$$

Concerning the second term, we have

$$\begin{aligned}
 & \frac{\sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{(1+x^2)^{r+k-1}} f^{(r-k-1)}(x) \\
 &= \sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j} \sum_{i=0}^{\infty} (-1)^i \binom{i+r+k-2}{r+k-2} x^{2i} \\
 &\quad \times \sum_{m=0}^{\infty} \frac{(m+r-k-1)!}{m!} F_{m+r-k-1} x^m \\
 &= \sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j} \sum_{l=0}^{\infty} \frac{1}{(r+k-2)!2^{r+k-2}} \frac{(l+2r+2k-4)!!}{l!!} \\
 &\quad \times \cos \frac{l\pi}{2} x^l \sum_{m=0}^{\infty} \frac{(m+r-k-1)!}{m!} F_{m+r-k-1} x^m
 \end{aligned}$$

HIGHER-ORDER IDENTITIES FOR FIBONACCI NUMBERS

$$\begin{aligned}
 &= \sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j} \sum_{n=0}^{\infty} \sum_{m=0}^n \frac{1}{(r+k-2)!2^{r+k-2}} \frac{(n-m+2r+2k-4)!!}{(n-m)!!} \\
 &\quad \times \cos \frac{(n-m)\pi}{2} \frac{(m+r-k-1)!}{m!} F_{m+r-k-1} x^n \\
 &= \frac{1}{(r+k-2)!2^{r+k-2}} \sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} \sum_{n=2r-k-2+2j}^{\infty} \sum_{m=0}^{n-2r+k+2-2j} \\
 &\quad \frac{(n-m+3k-2-2j)!!}{(n-m-2r+k+2-2j)!!} \cos \frac{(n-m-2r+k+2-2j)\pi}{2} \frac{(m+r-k-1)!}{m!} F_{m+r-k-1} x^n.
 \end{aligned}$$

Since

$$\frac{(n-m+r+2k-3-2j)!!}{(n-m-r+k+3-2j)!!} = 0 \quad \text{if } m = n - 2r + k + 2 - 2j \quad (j = 1, 2, \dots, k-2)$$

and

$$\cos \frac{(n-m-r+1-2j)\pi}{2} = 0 \quad \text{if } m = n - 2r + k + 1 - 2j \quad (j = 0, 1, \dots, k-1),$$

this is equal to

$$\begin{aligned}
 &\frac{1}{(r+k-2)!2^{r+k-2}} \sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} \sum_{n=2r-k-2}^{\infty} \sum_{m=0}^{n-2r+k+2} \\
 &\times \frac{(n-m+3k-2-2j)!!}{(n-m-2r+k+2-2j)!!} \cos \frac{(n-m-2r+k+2-2j)\pi}{2} \frac{(m+r-k-1)!}{m!} F_{m+r-k-1} x^n \\
 &= \frac{1}{(r+k-2)!2^{r+k-2}} \sum_{n=2r-k-2}^{\infty} \sum_{m=r-k-1}^{n-r+1} \sum_{j=0}^{k-1} (-1)^j \binom{k}{j} \binom{r-2}{k-j-1} \\
 &\times \frac{(n-m+r+2k-3-2j)!!}{(n-m-r+k+3-2j)!!} \cos \frac{(n-m-r+1-2j)\pi}{2} \frac{m!}{(m-r+k+1)!} F_m x^n.
 \end{aligned}$$

Since  $\cos(\alpha + \pi) = -\cos \alpha$ , this is also equal to

$$\begin{aligned}
 &\frac{1}{(r+k-2)!2^{r+k-2}} \sum_{n=2r-k-2}^{\infty} \sum_{m=r-k-1}^{n-r+1} \sum_{j=0}^{k-1} \binom{k}{j} \binom{r-2}{k-j-1} \frac{(n-m+r+2k-3-2j)!!}{(n-m-r+k+3-2j)!!} \\
 &\times \cos \frac{(n-m-r+1)\pi}{2} \frac{m!}{(m-r+k+1)!} F_m x^n \\
 &= \frac{1}{(r+k-2)!2^{r+k-2}} \sum_{n=2r-k-2}^{\infty} \sum_{m=r-k-1}^{n-r+1} \frac{(n-m+r-1)!!}{(n-m-r+1)!!} \binom{r+k-2}{k-1} \frac{(n-m+r-3)!!}{(n-m+r-2k-1)!!} \\
 &\times \cos \frac{(n-m-r+1)\pi}{2} \frac{m!}{(m-r+k+1)!} F_m x^n.
 \end{aligned}$$

Therefore, the right-hand side of the relation in Theorem 4.2 is

$$\begin{aligned}
 & \frac{1}{(r-1)!(r-2)!2^{r-2}} \sum_{n=2r-2}^{\infty} \sum_{m=r-1}^{n-r+1} \frac{(n-m+r-3)!!}{(n-m-r+1)!!} \cos \frac{(n-m-r+1)\pi}{2} \frac{m!}{(m-r+1)!} F_m x^n \\
 & + \sum_{k=1}^{r-1} \frac{1}{k(r-k-2)!} \frac{1}{(r+k-2)!2^{r+k-2}} \sum_{n=2r-k-2}^{\infty} \\
 & \quad \sum_{m=r-k-1}^{n-r+1} \frac{(n-m+r-1)!!}{(n-m-r+1)!!} \binom{r+k-2}{k-1} \frac{(n-m+r-3)!!}{(n-m+r-2k-1)!!} \\
 & \quad \times \cos \frac{(n-m-r+1)\pi}{2} \frac{m!}{(m-r+k+1)!} F_m x^n \\
 & = \frac{1}{(r-1)!(r-2)!2^{r-2}} \sum_{n=2r-2}^{\infty} \sum_{m=r-1}^{n-r+1} \frac{(n-m+r-3)!!}{(n-m-r+1)!!} \cos \frac{(n-m-r+1)\pi}{2} \frac{m!}{(m-r+1)!} F_m x^n \\
 & + \sum_{n=r-1}^{\infty} \frac{1}{(r-1)!2^{r-2}} \sum_{m=1}^{r-2} \sum_{k=r-m-1}^{r-2} \frac{1}{k!(r-k-2)!2^k} \frac{(n-m+r-1)!!}{(n-m-r+1)!!} \\
 & \quad \times \frac{(n-m+r-3)!!}{(n-m+r-2k-1)!!} \cos \frac{(n-m-r+1)\pi}{2} \frac{m!}{(m-r+k+1)!} F_m x^n \\
 & + \sum_{n=r-1}^{\infty} \frac{1}{(r-1)!2^{r-2}} \sum_{m=r-1}^{n-r+1} \sum_{k=1}^{r-2} \frac{1}{k!(r-k-2)!2^k} \frac{(n-m+r-1)!!}{(n-m-r+1)!!} \\
 & \quad \times \frac{(n-m+r-3)!!}{(n-m+r-2k-1)!!} \cos \frac{(n-m-r+1)\pi}{2} \frac{m!}{(m-r+k+1)!} F_m x^n.
 \end{aligned}$$

Since for  $1 \leq m \leq r-2$  we have

$$\begin{aligned}
 & \frac{1}{(r-1)!2^{r-2}} \sum_{k=r-m-1}^{r-2} \frac{1}{k!(r-k-2)!2^k} \frac{(n-m+r-1)!!}{(n-m-r+1)!!} \\
 & \quad \times \frac{(n-m+r-3)!!}{(n-m+r-2k-1)!!} \frac{m!}{(m-r+k+1)!} \\
 & = \frac{1}{(r-1)!(r-2)!2^{2r-4}} \frac{(n+m+r-3)!!}{(n+m-r+1)!!} \frac{(n-m+r-3)!!}{(n-m-r+1)!!} m
 \end{aligned}$$

and for  $r-1 \leq m \leq n-r+1$  we have

$$\begin{aligned}
 & \frac{1}{(r-1)!(r-2)!2^{r-2}} \frac{(n-m+r-3)!!}{(n-m-r+1)!!} \frac{m!}{(m-r+1)!} \\
 & + \frac{1}{(r-1)!2^{r-2}} \sum_{k=r-m-1}^{r-2} \frac{1}{k!(r-k-2)!2^k} \frac{(n-m+r-1)!!}{(n-m-r+1)!!} \\
 & \quad \times \frac{(n-m+r-3)!!}{(n-m+r-2k-1)!!} \frac{m!}{(m-r+k+1)!} \\
 & = \frac{1}{(r-1)!(r-2)!2^{2r-4}} \frac{(n+m+r-3)!!}{(n+m-r+1)!!} \frac{(n-m+r-3)!!}{(n-m-r+1)!!} m,
 \end{aligned}$$

the proof is done. □

5. EXAMPLES 2

When  $r = 2$ , Theorem 4.2 is reduced to Theorem 4.1. When  $r = 3, 4, 5$ , we have the following results as examples.

**Theorem 5.1.** *For  $n \geq 3$ , we have*

$$\sum_{\substack{j_1+j_2+j_3=n \\ j_1, j_2, j_3 \geq 1}} F_{j_1} F_{j_2} F_{j_3} = \sum_{m=1}^{n-2} \frac{(n+m)(n-m)mF_m}{8} \cos \frac{(n-m-2)\pi}{2},$$

**Theorem 5.2.** *For  $n \geq 4$ , we have*

$$\begin{aligned} & \sum_{\substack{j_1+j_2+j_3+j_4=n \\ j_1, j_2, j_3, j_4 \geq 1}} F_{j_1} F_{j_2} F_{j_3} F_{j_4} \\ &= \sum_{m=1}^{n-3} \frac{(n+m+1)(n+m-1)(n-m+1)(n-m-1)mF_m}{4!2^3} \cos \frac{(n-m-3)\pi}{2}. \end{aligned}$$

**Theorem 5.3.** *For  $n \geq 5$ , we have*

$$\begin{aligned} & \sum_{\substack{j_1+\dots+j_5=n \\ j_1, \dots, j_5 \geq 1}} F_{j_1} \cdots F_{j_5} \\ &= \sum_{m=1}^{n-4} \frac{5(n+m+2)(n+m)(n+m-2)(n-m+2)(n-m)(n-m-2)mF_m}{6!2^6} \\ & \quad \times \cos \frac{(n-m)\pi}{2}. \end{aligned}$$

6. REMARKS

In [3, Theorem 32.4], it is shown that  $\sum_{j=0}^n F_j F_{n-j} = h_{2,n}$ , where  $h_{i,j} = h_{i,j-2} + h_{i,j-1} + h_{i-1,j-1}$  ( $i \geq 1, j \geq 2$ ) with  $h_{0,j} = 0$  ( $j \geq 2$ ),  $h_{j,j} = 1$  ( $j \geq 1$ ) and  $h_{i,j} = 0$  ( $i > j$ ). In addition, an explicit form is given by  $h_{2,n} = ((n-1)F_n + 2nF_{n-1})/5$  ([3, (32.13)]). We can show that Theorem 4.1 matches this fact.

In addition, in [3, Theorem 32.4 and (32.14)], it is shown that the left-hand side of (5.1) is equal to  $((5n^2 - 3n - 2)F_n - 6nF_{n-1})/50$ .

**Proposition 6.1.** *For  $n \geq 2$*

$$\sum_{m=1}^{n-1} mF_m \cos \frac{(n-m-1)\pi}{2} = \frac{(n-1)F_n + 2nF_{n-1}}{5}.$$

**Lemma 6.2.** For  $n \geq 0$  and  $k \geq 1$  with  $k > j$ , we have

$$\sum_{i=0}^n F_{ki+j} = \frac{F_{(n+1)k+j} - (-1)^k F_{nk+j} - F_j - (-1)^j F_{k-j}}{L_k - (-1)^k - 1}, \tag{6.1}$$

$$\begin{aligned} \sum_{i=0}^n iF_{ki-j} &= \frac{1}{(L_k - (-1)^k - 1)^2} \left( nF_{(n+2)k-j} - (2(-1)^k n + n + 1)F_{(n+1)k-j} \right. \\ &\quad \left. + (2(-1)^k(n+1) + n)F_{nk-j} - (n+1)F_{(n-1)k-j} \right. \\ &\quad \left. - (-1)^{k+j}F_{k+j} + F_{k-j} + 2(-1)^{k+j}F_j \right), \end{aligned} \tag{6.2}$$

*Proof.* (6.1) is Theorem 5.11 in [3]. We shall prove (6.2). Since

$$z + 2z^2 + 3z^3 + \dots + nz^n = z \frac{d}{dz} (1 + z + z^2 + \dots + z^n) = \frac{nz^{n+2} - (n+1)z^{n+1} + z}{(z-1)^2},$$

by  $\alpha = (1 + \sqrt{5})/2$  and  $\beta = (1 - \sqrt{5})/2$  with  $\alpha\beta = -1$ , we have

$$\begin{aligned} \sum_{i=1}^n iF_{ki-j} &= \sum_{i=1}^n i \frac{\alpha^{ki-j} - \beta^{ki-j}}{\sqrt{5}} \\ &= \frac{1}{\sqrt{5}} \left( \frac{1}{\alpha^j} \frac{n(\alpha^k)^{n+2} - (n+1)(\alpha^k)^{n+1} + \alpha}{(\alpha^k - 1)^2} - \frac{1}{\beta^j} \frac{n(\beta^k)^{n+2} - (n+1)(\beta^k)^{n+1} + \beta}{(\beta^k - 1)^2} \right) \\ &= \frac{1}{\sqrt{5}((\alpha\beta)^k - (\alpha^k + \beta^k) + 1)^2} \left( n(\alpha^{nk-j} - \beta^{nk-j}) - (n+1)(\alpha^{(n-1)k-j} - \beta^{(n-1)k-j}) \right. \\ &\quad \left. - (-1)^k(\alpha^k\beta^{-j} - \beta^k\alpha^{-j}) - 2n(-1)^k(\alpha^{(n+1)k-j} \right. \\ &\quad \left. - \beta^{(n+1)k-j}) + 2(-1)^k(n+1)(\alpha^{nk-j} - \beta^{nk-j}) - 2(-1)^k(\alpha^{-j} - \beta^{-j}) \right. \\ &\quad \left. + n(\alpha^{(n+2)k-j} - \beta^{(n+2)k-j}) - (n+1)(\alpha^{(n+1)k-j} - \beta^{(n+1)k-j}) + (\alpha^{k-j} - \beta^{k-j}) \right) \\ &= \frac{1}{(L_k - (-1)^k - 1)^2} \left( nF_{(n+2)k-j} - (2(-1)^k n + n + 1)F_{(n+1)k-j} \right. \\ &\quad \left. + (2(-1)^k(n+1) + n)F_{nk-j} - (n+1)F_{(n-1)k-j} \right. \\ &\quad \left. - (-1)^{k+j}F_{k+j} + F_{k-j} + 2(-1)^{k+j}F_j \right). \end{aligned}$$

Here, we used the fact  $F_{-j} = (-1)^{j-1}F_j$  ( $j \geq 1$ ). □

## HIGHER-ORDER IDENTITIES FOR FIBONACCI NUMBERS

*Proof of Proposition 6.1.* Let  $n = 4k$ . Other cases  $n \not\equiv 0 \pmod{4}$  can be proven similarly. By Lemma 6.2

$$\begin{aligned}
 & \sum_{m=1}^{n-1} mF_m \cos \frac{(n-m-1)\pi}{2} \\
 &= - \sum_{l=1}^k (4l-3)F_{4l-3} + \sum_{l=1}^k (4l-1)F_{4l-1} \\
 &= 4 \sum_{l=1}^k lF_{4l-2} + \sum_{l=1}^k F_{4l-5} \\
 &= \frac{4}{25} (kF_{4k+6} - (3k+1)F_{4k+2} + (3k+2)F_{4k-2} - (k+1)F_{4k-6} - 5) \\
 &\quad + \frac{1}{5} (F_{4k-1} - F_{4k-5} + 4) \\
 &= \frac{(4k-1)F_{4k} + 2F_{4k-1}}{5} = \frac{(n-1)F_n + 2F_{n-1}}{5}.
 \end{aligned}$$

□

### 7. ACKNOWLEDGEMENT

This work has been partly done when the first author visited the Czech Technical University in Prague in June 2014. He would like to thank the Department of Mathematics FNSPE for the kind hospitality.

### REFERENCES

- [1] A. T. Benjamin and J. Quinn, *Proofs that really count: The art of combinatorial proof*, Dolciani Mathematical Expositions No.27, MAA, 2003.
- [2] T. Komatsu, *Convolution identities for Cauchy numbers*, Acta Math. Hungary. **144** (2014), 76–91.
- [3] T. Koshy, *Fibonacci and Lucas numbers with applications*, Wiley, New York, 2001.
- [4] OEIS Foundation Inc. (2014), The On-Line Encyclopedia of Integer Sequences, <http://oeis.org>.

MSC2010: 05A15, 05A19, 11B39

SCHOOL OF MATHEMATICS AND STATISTICS, WUHAN UNIVERSITY, WUHAN, 430072, CHINA  
*E-mail address:* [komatsu@whu.edu.cn](mailto:komatsu@whu.edu.cn)

DEPARTMENT OF MATHEMATICS FNSPE, CZECH TECHNICAL UNIVERSITY IN PRAGUE, TROJANOVA 13,  
 120 00 PRAGUE 2, CZECH REPUBLIC  
*E-mail address:* [zuzana.masakova@fjfi.cvut.cz](mailto:zuzana.masakova@fjfi.cvut.cz)

DEPARTMENT OF MATHEMATICS FNSPE, CZECH TECHNICAL UNIVERSITY IN PRAGUE, TROJANOVA 13,  
 120 00 PRAGUE 2, CZECH REPUBLIC  
*E-mail address:* [edita.pelantova@fjfi.cvut.cz](mailto:edita.pelantova@fjfi.cvut.cz)